### **Bid Pricing from all vendors follows**

Mayne Harm

Bidders must state and identify the product offered, such as manufacturer's name, trade name, brand name and quality next to each item. WE MUST KNOW WHAT HAS BEEN OFFERED.

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract.

YES	XX	NO				
Deliv	ery to be	e made to	o: <u>City of V</u>	Vorcester		
Thic I	Qid inal	ides addi	anda numb	arad	1	

### NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!

#### BIDDER TO COMPLETE ITEMS BELOW

Item No.	Estimated Quantity	Description	Mfg	Model No.	Unit Price	Total Amount
· · · · · · · · · · · · · · · · · · ·		Furnish and Provide Monitoring Services for an Intrusion Alarm System as per the attached requirements and specifications of the City of Worcester.				
		Monitoring Services are required 24 hours per day, 365 days per year, with 100% up time availability.				See Attached Pricing Page
		Bidders must bid on all sites. Award to be made in the aggregate.				
		in the aggregate.		·		

TERMS, CASH DISCOUNT % 30 DAYS, NET 45 DAYS.
DELIVERY AND/OR COMPLETION TO BE MADE WITHIN $\underline{\mathcal{A}}$ DAYS FROM DATE OF NOTIFICATION BY THE CITY.
NAME OF BIDDER HAME A ARM SYSTEMS, INC





Worce	ester Public Schools & City Facility	ties	
	Security System List		
School/Building	Monthly Location Cost	# of months	Annual Location Cos
ALL School (Woodland & Claremont Academies)	s 27.00	12	s_334,00
Alternative School	s 27.00	12	5 304,00
Belmont St. Community School	s <u>27,00                                   </u>	12	s 324.00
Burncoat Middle School	s 27.00	12	s 324,00
Burncoat Senior High School	s <u>27.00</u>	12	s_324,00
Burncoat St. Preparatory	s 37.00	12	s 324.00
Canterbury St. Magnet	s <u>27.80</u>	12	5-274,00
Chandler Elementary Community	s 27,00	12	s 324,00
Chandler Magnet School	\$ 27.00	12	5.324,00
City View	s 27.00	12	5.324,00
Clark Street School	s 27.00	12	s 724.0D
Columbus Park	\$ 27.00	12	324.00
Creamer Center	· 27 A7	12	e 524 va
	3 <u>07.00</u>		2 7 1 4 (i)
Elm Park Community School	S <u>AT UD</u>	12	30471U
Flagg Street School	\$ <u>47.00</u>	12	\$ <u>341,00</u>
Forest Grove Middle School	s_27.00	12	s.3.24.00
Gates Lane	s 27,00	12	s_324,00
Goddard School of Science & Tech	s 27,00	12	s. 32400
Grafton Street School (Buildings 1 & 2)	5-4.00	12 12	344.01)
Heard Street School Jacob Hiatt Magnet	(22.00)	12	(124.00)
Lake View School	1200	12	931400
Lincoln Street School	(12 (0)	12	324.70
May Street School	· 27.00	12	5 7-14 M
McGrath Elementary School	5200	12	(174 A)
Midland Street School	3270	12	5 2 24 111
Nelson Place School	27.00		52411
	37.00	12	237,00
Norrback Ave	\$ <u>0.27.00</u>	12	5. 7.71(10)
North High School	37.00	12	32/19/00
North High School Garage	31,00	12 12	S-15/1/10
Quinsigamond Ave School	3 547.00	12	1304.00
Rice Square School	s 77,00	12	s <u>374,00</u>
Roosevelt	s 4 t 00	12	s, 4-14,00
South High Community School	s 27.60	12	S 5 7 9 100
Sullivan Middle School	S & FILL	12	s <u>324,00</u>
l'atnuck Magnet	s_6/1/00	12	s <u>324,00</u>
Fhorndyke Road	s_27,00	12	s 334,00
Union Hill (Buildings 1 & 2)	s <u>27,00</u>	12	s 374.00
Iniversity Park Campus School	s 07.00	12	s 32400
Wawecus Road	s 31.00	12	s 370,00
Vest Tatnuck	s 17,00	12	s.77400
Vorcester Arts Magnet	s At W	12	st 32400
Worcester East Middle School	s 27.80	12	s324,00
Durkin Administration Building	s 2 7,00	12	s.304.00
Fanning Building	s 27,00	12	5334,00
larlow Street	s 27.00	12	s 354,00
lead Start - Greendale	\$ 27.00	12	5324.40
lead Start - Mill Swan	s & TOU	12	s.724,00
fead Start - Taylor	S JAUU	12	s324,00

## Wayne Alarm

### PRICING PAGES INTRUSION MONITORING SERVICES



Bidders must bid on ALL sites. Award to be made in the aggregate.

Head Start - Millbury	s 27.00	12	s_724,00
LaFamimilia Dual Language	s 31,00		s 342,00
115 North East Cut Off BLDG'5 2, 3, 4	s_10/195		s 1, 223, 40
Parent Information Center	s 27,00	12	s 324,00
Doherty High School	s <u>27,00</u>	12	s 374,00
IT Technical Services Department	s27.00	12	s_324,00
New Citizens Center	\$27.00	12	s. 324, 00
North High School Garage	\$27.00	12	s.324,00
Worcester Technical High School	\$31,00		372.00
Vernon Hill School	\$27.00	12	s 324,00
	GRA	ND TOTAL - A	s2463,40

Parks, Recreation & Cemetery Divison Security System List				
Location	Monthly Location C	ost # of months	Annual Location Cost	
50 SKYLINE DRIVE	s 31.00	12	s 37-2.00	
GREEN HILL GOLF CLUB	21 12		2200	
2 GREEN HILL AVE	s 31,00	12	\$ Stolice	
CROMPTON PARK FIELD HOUSE	2/11		- 211 m	
CANTON ST.	\$ 31,00	12	\$ 5.70000	
BELL HILL BATH HOUSE	a n/a	10	2 n/2	
BELMONT STREET	S	12	\$_ <i>T1/H</i>	
BEAVER BROOK COMMUNITY HOUSE	s 31,00	13	s 372,00	
MANN STREET	3 0//00	12	2710100	
VERNON HILL - GIRLS SOFTBALL	s 31,00	12	s 372,00	
AMES STREET	3 67700	12	30/0/00	
MULCAHY PARK FIELD HOUSE DORCHESTER STREET	s 3/.DA	12	s 372 00	
SHORE PARK BEACH HOUSE	3 07700	12	3 3 7 181 00	
HEALD BEACH	s 27,00	12	s 224,00	
COMMUNITY BUILDING	- 7700	••		
LAKE AVE, & HAMILTON STREET	s 27,00	12	s 324, W	
ELM PARK	\$ 7/,00	12	\$ 330.00	
HOPE CEMETERY - ADMINISTRATION	27		\$\frac{10100}{10000}	
119A WEBSTER STREET	s O(LiDD	12	s 324,00	
HOPE CEMETERY - MAINTENANCE	2/12			
119 WEBSTER STREET	s 3/100	12	s 375100	
GREEN HILL FARM	s 27,00	12	s 224,00	
MASS NATIONAL GUARD BUILDING	\$ 27,00	12	\$ 324.00	
GOLF SNACK SHACK	\$ 27/10	12	\$ 224.00	
AUDITORIUM	6-23.00	12	632/10	
	5 D / O	<del></del>	377.00	
FAMILY/PROBATE & COMMUNITY CORRECTIONS	3_////	12	S	
SOUTH WORCESTER COMMUNITY BUILDING	\$ 31,00	12	\$3+0.00	
NEWTON HILL at ELM PARK	\$ <u>3/100</u>	12	S 3 10400	
LAKE PARK	s_3/1011	12	s3*1100	
STEARNS TAVERN, 140 MILL ST.	s 31.01)	12	s. 372,00	
PRE-CAST RESTROOMS, 43 AMES ST.	s 31,00		s 37200	
LOU GEHRIG LITTLE LEAGUE CONCESSION, 37 STOCKTON ST.	s 31,00	12	s372,00	
	G	RAND TOTAL - B	\$7,476,00	

Department of	of Public Works & Park	S	
Secu	rity System List		
Location	Monthly Location Cost	# of months	Annual Location Cost
ADMINISTRATION BUILDING 20 EAST WORCESTER STREET MECHANIC'S GARAGE	s_31.00	12	s.37.2.00
20 EAST WORCESTER STREET	s 27.00	12	s 324,00
CUSTOMER SERVICE CENTER VEHICLE STORAGE GARAGE 76 EAST WORCESTER STREET CLARK STREET SALT YARD DISPATCH BUILDING	s J7, 00 s <del>7</del> 7, 00	12 12	s <u>324,00</u> s 324,00

### PRICING PAGES

INTRUSION MONITORING SERVICES Bidders must bid on ALL sites. Award to be made in the aggregate.

12 12 12

**GRAND TOTAL - C** 

3

CR-7221-K0

55 MOY RANCH ROAD

55 MOY RANCH ROAD - OFFICE

1065 MILLBURY STREET FACILITY

S\_\_*D/H*\_





	Energy Asset Management Security System List		
Location	Monthly Location Cost	# of months	Annual Location Cost
DEPARTMENT OF INSPECTIONAL SERVICES 25 MEADE STREET	s 27,00	12	s_324,00
WORCESTER SENIOR CENTER 128 PROVIDENCE STREET	s 31.00	12	s 372,00
CITY HALL 455 MAIN STREET	s 27,00	12	s 324,00
CITY HALL BOILER TEMP. CONTROL	s_ <i>n/A</i>	12	s <u>n/H</u>
FRANCES PERKINS LIBRARY 470 WEST BOYLSTON STREET	s 27.00	12	s 324,00
GREAT BROOK VALLEY LIBRARY 89 TACOMA ST.	s 27.00	12	s 324,00
	GRAM	D TOTAL - D	\$ 1,668,00

Sec	MASS HIRE curity System List		
Location	Monthly Location Cost	# of months	Annual Location Cost
5 Optical Dr. (thru 7/31/22 -est.)	s 27,00	12	s 324,00
340 Main St (thru 12/31/22 - est.)	s 27, DU	12	s.374,00
14 Mechanic St., 3rd Floor, Southbridge, MA (FY-23 est 8/2022)	s 3/,00	12	s 370,00
552 Main St., 4th Floor, Worcester (Est. 1/2023)	31.00		372.00
552 Main St., 5th Floor - partial, Worcester (Est. 1/2023)	s 3/00	12	s 372,00
	GRA	ND TOTAL - E	\$1,764.00

	·		-
	All Departments		
	Repair/Service		
Densin /Samina	Wanniba Cast	Estimated # of Hours	Annual Cost
Repair /Service	Hourly Cost	Hours	Annual Cost
Emergency Repair Approximately 100 Hours Annually	s 285.00	100	s 28,500
Service Repair Approximately 100 Hours Annually	s 190,00	100	\$ 19,000
	GRAI	ND TOTAL - F	\$ 47,500.00
EMERGEN	CY COMMUNICATIONS DIV	/ISION	
	Security System List		
Location	Monthly Location Cost	# of months	Annual Location Cost
2 COPPAGE DRIVE	s 31.00	12	s.372100
SKYLINE DRIVE (RADIO TOWER)	s 31,00	12	s 37200
442 SOUTHWEST CUTOFF	s 3/.00	12	\$ 3702.00
	GRAI	ND TOTAL -G	\$1,116,00
	GRAND TOTAL IT	EMS A TO G	\$ 81,723,40

ENZ

Bidders must state and identify the product offered, such as manufacturer's name, trade name, brand name and quality next to each item. WE MUST KNOW WHAT HAS BEEN OFFERED.

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract.

YES XX NO		
Delivery to be made to: City of Worcester		
This Bid includes addenda numbered	l	

### NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!

#### BIDDER TO COMPLETE ITEMS BELOW

Item No.	Estimated Quantity	Description	Mfg	Model No.	Unit Price	Total Amount
	103 SITES I PANEL PER SITE	Furnish and Provide Monitoring Services for an Intrusion Alarm System as per the attached requirements and specifications of the City of Worcester.  Monitoring Services are required 24 hours per day, 365 days per year, with 100% up time availability.  Bidders must bid on all sites. Award to be made in the aggregate.	×	×	X	See Attached Pricing Page
			1			

TERMS, CASH DISC	OUNT 0 % 30 DAYS, NET 45 DAYS.
DELIVERY AND/OR BY THE CITY.	COMPLETION TO BE MADE WITHIN TBD DAYS FROM DATE OF NOTIFICATION  BASED UPON MUTUAL  AGREEMENT
NAME OF BIDDER_	ENE Systems, Inc.



		GRAND	TOTAL -	A S	30,090.00
Vernon Hill School	\$	42.50	12	\$	510.00
Worcester Technical High School	S	42.50	12	S	510.00
North High School Garage	S	42.50	12	S	510.00
New Citizens Center	S	42.50	12	S	510.00
1T Technical Services Department	S	42.50	12	S	510.00
Doherty High School	S	42.50	12	S	510.00
Parent Information Center	S	42.50	12	S	510.00
115 North East Cut Off	S	42.50	12	S	510.00
LaFamimilia Dual Language	S	42.50	12	S	510.00
Head Start - Millbury	S	42.50	12	S	510.00

Parks, Recrea	tion & Cer	netery Divisor	}		
Secu	rity Systen	n List			
Location		Location Cost	# of months	Anni	al Location Cost
50 SKYLINE DRIVE	S	42.50	12	S	510.00
GREEN HILL GOLF CLUB					
2 GREEN HILL AVE	S	42.50	12	S	510.00
CROMPTON PARK FIELD HOUSE					
CANTON ST.	S	42.50	12	S	510.00
BELL HILL BATH HOUSE	_				
BELMONT STREET	S	42.50	12	S	510.00
BEAVER BROOK COMMUNITY HOUSE		48.80		_	
MANN STREET	S	42.50	12	\$	510.00
VERNON HILL - GIRLS SOFTBALL	S	43.50	12	611	
AMES STREET	3	42.50	12	S	510.00
MULCAHY PARK FIELD HOUSE DORCHESTER STREET	S	42.50	12	S	510.00
SHORE PARK BEACH HOUSE	3	42.50	12	3	510.00
HEALD BEACH	S	42.50	12	S	510,00
COMMUNITY BUILDING	J	781610	12	3	310.00
LAKE AVE. & HAMILTON STREET	S	42.50	12	S	510.00
ELM PARK	S	42.50	12	S	510.00
HOPE CEMETERY - ADMINISTRATION	•	Valero		3	510.00
119A WEBSTER STREET	S	42.50	12	S	510.00
HOPE CEMETERY - MAINTENANCE					
119 WEBSTER STREET	S	42.50	12	S	510.00
GREEN HILL FARM	\$	42.50	12	S	510.00
MASS NATIONAL GUARD BUILDING	S	42.50	12	S	510.00
GOLF SNACK SHACK	S	42.50	12	S	510.00
AUDITORIUM	S	42.50	12	S	510.00
The state of the s	S			-	
FAMILY/PROBATE & COMMUNITY CORRECTIONS	•	42.50	12	S	510.00
SOUTH WORCESTER COMMUNITY BUILDING	S	42.50	12	S	510.00
NEWTON HILL at ELM PARK	5	42.50	12	\$	510.00
LAKE PARK	S	42.50	12	S	510.00
STEARNS TAVERN, 140 MILL ST.	S	42.50	12	S	510.00
PRE-CAST RESTROOMS, 43 AMES ST.	S	42.50	12	\$	510.00
LOU GEHRIG LITTLE LEAGUE CONCESSION, 37 STOCKTON ST.	S	42.50	12	S	510.00
		GRAN	D TOTAL -	B \$	11,730.00

Departme	nt of Public W	orks & Parks			
Se	ecurity System	ı List			
Location	Monthly	Location Cost	# of months	Annua	Location Cost
ADMINISTRATION BUILDING					
20 EAST WORCESTER STREET	S	42.50	12	S	510.00
MECHANIC'S GARAGE					
20 EAST WORCESTER STREET	S	42.50	12	S	510.00
CUSTOMER SERVICE CENTER VEHICLE STORAGE GARAGI					
76 EAST WORCESTER STREET	S	42.50	12	S	510.00
CLARK STREET SALT YARD DISPATCH BUILDING	S	42.50	12	S	510.00





word	ester Public Schools	•	ies		
	Security Systen				
School/Building	Monthly	Location Cost	# of months		al Location Cost
ALL School (Woodland & Claremont Academies)	\$	42.50	12	\$	510.00
Alternative School	\$	42.50	12	\$	510.00
Belmont St. Community School	\$	42.50	12	\$	510.00
Burncoat Middle School	\$	42.50	12	\$	510.00
Burncoat Senior High School	S	42.50	12	\$	510.00
Burncoat St. Preparatory	\$	42.50	12	\$	510.00
Canterbury St. Magnet	\$	42.50	12	S	510.00
Chandler Elementary Community	\$	42.50	12	\$	510.00
Chandler Magnet School	S	42.50	12	S	510.00
City View	\$	42.50	12	\$	510.00
Clark Street School	\$	42.50	12	\$	510.00
Columbus Park	S	42.50	12	\$	510.00
Creamer Center	S	42.50	12	\$	510.00
Elm Park Community School	S	42.50	12	\$	510.00
Flagg Street School	\$	42.50	12	\$	510.00
Forest Grove Middle School	s	42.50	12	\$	510.00
Gates Lane	S	42.50	12	S	510.00
Goddard School of Science & Tech	\$ \$	42.50 42.50	12 14	\$ \$	510.00 510.00
Grafton Street School (Buildings 1 & 2) Heard Street School	3	42.50	12	3	510.00
Jacob Hiatt Magnet	S	42.50	12	\$	510.00
Lake View School	S	42.50	12	\$	510.00
Lincoln Street School	\$	42.50	12	S	510.00
May Street School	S	42.50	12	\$	510.00
McGrath Elementary School	S	42.50	12	\$	510.00
Midland Street School	\$	42.50	12	\$	510.00
Nelson Place School	S	42.50	12	S	510.00
Norrback Ave	s	42.50	12	\$	510.00
	\$	42.50	12	S	510.00
North High School		42.50	12	\$	510.00
North High School Garage Quinsigamond Ave School	S	42.50 42.50	12	5	510.00
Rice Square School	e	42.50	12	\$	510.00
	\$ \$		12	s \$	510.00
Roosevelt	_	42.50			
South High Community School	S	42.50	12	\$	510.00
Sullivan Middle School	S	42.50	12	\$	510.00
Tatnuck Magnet	\$	42.50	12	S	510.00
Thorndyke Road	\$	42.50	12	\$	510.00
Union Hill (Buildings 1 & 2)	\$	42.50	12	S	510.00
University Park Campus School	\$	42.50	12	S	510.00
Wawecus Road	\$	42.50	12	\$	510.00
West Tatnuck	\$	42.50	12	\$	510.00
Worcester Arts Magnet	S	42.50	12	\$	510.00
Worcester East Middle School	\$	42.50	12	\$	510.00
Durkin Administration Building	S	42.50	12	\$	510.00
Fanning Building	S	42.50	12	S	510.00
Harlow Street	\$	42.50	12	S	510.00
Head Start - Greendale	S	42.50	12	2	510.00
Head Start - Mill Swan	S	42,50	12	S	510.00
Head Start - Taylor	\$	42.50	12	\$	510.00

3

ENS

### PRICING PAGES INTRUSION MONITORING SERVICES



### CR-7221-K0

Bidders must bid on ALL sites. Award to be made in the aggregate.

1065 MILLBURY STREET FACILITY	S	42,50	12	S	510.00
55 MOY RANCH ROAD	S	42.50	12	S	510.00
55 MOY RANCH ROAD - OFFICE	S	42.50	12	S	510.00
		GRAND T	TOTAL -	C \$	3,570.00





I	Energy Asset Mana	ngement			
	Security System	List			
Location	Monthly l	Location Cost	# of months	Annu	al Location Cost
DEPARTMENT OF INSPECTIONAL SERVICES 25 MEADE STREET WORCESTER SENIOR CENTER	\$	42.50	12	\$	510.00
128 PROVIDENCE STREET	S	42.50	12	S	510.00
CITY HALL 455 MAIN STREET	S	42.50	12	\$	510.00
CITY HALL BOILER TEMP. CONTROL FRANCES PERKINS LIBRARY	S	42.50	12	\$	510.00
470 WEST BOYLSTON STREET	\$	42.50	12	\$	510.00
GREAT BROOK VALLEY LIBRARY 89 TACOMA ST.	s	42.50	12	s	510.00
		GRAN	D TOTAL - I	\$	3,060.00

MASS HIRE Security System List							
Location	Monthly	Location Cost	# of months		Annual Location Cost		
5 Optical Dr. (thru 7/31/22 -est.)	\$	42.50	12	S	510.00		
340 Main St (thru 12/31/22 - est.)	S	42.50	12	S	510.00		
14 Mechanic St., 3rd Floor, Southbridge, MA (FY-23 est 8/2022)	\$	42.50	12	S	510.00		
552 Main St., 4th Floor, Worcester (Est. 1/2023)	S	42.50	12	S	510.00		
552 Main St., 5th Floor - partial, Worcester (Est. 1/2023)	S	42.50	12	S	510.00		
•		GRAN	D TOTAL -	E \$	2,550.00		

	All Departmei Repair/Servio				
			Estimated # of		
Repair /Service	Hou	arly Cost	Hours		Annual Cost
Emergency Repair					
Approximately 100 Hours Annually	\$	187.50	100	S	18,750.00
Service Repair					
Approximately 100 Hours Annually	\$	125.00	100	S	12,500.00
		GRAN	D TOTAL - F	\$	31,250.00
EMERGE	NCY COMMUNICA	ATIONS DIV	ISION		
	Security System	ı List			
Location	Monthly	Location Cost	# of months	Aı	nnual Location Cost
2 COPPAGE DRIVE	S	42.50	12	S	510.00
SKYLINE DRIVE (RADIO TOWER)					
	\$	42.50	12	S	510.00
442 SOUTHWEST CUTOFF	\$	42.50	12	\$	510.00
		GRAN	D TOTAL -G	\$	1,530.00
	GRAND	TOTAL ITE	MS A TO G	\$	83,780.00

Bidders must state and identify the product offered, such as manufacturer's name, trade name, brand name and quality next to

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract.

YES XX	NO
--------	----

Delivery to be made to: City of Worcester

This Bid includes addenda numbered 1

each item. WE MUST KNOW WHAT HAS BEEN OFFERED.

### NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!

#### **BIDDER TO COMPLETE ITEMS BELOW**

Item No.	Estimated Quantity	Description	Mfg	Model No.	Unit Price	Total Amount
		Furnish and Provide Monitoring Services for an Intrusion Alarm System as per the attached requirements and specifications of the City of Worcester.				0
		Monitoring Services are required 24 hours per day, 365 days per year, with 100% up time availability.				See Attached Pricing Page
		Bidders must bid on all sites. Award to be made in the aggregate.				

TERMS, CASH DISCOUNT % 30 DAYS, NET 45 DAYS.
DELIVERY AND/OR COMPLETION TO BE MADE WITHIN
Pine Ridge Technologies, Inc. NAME OF BIDDER

Worce	ster Public Schools	•	ies		
	Security System	m List			
School/Building		Location Cost	# of months	Annua	l Location Cost
ALL School (Woodland & Claremont Academies)	\$	61.00	12	\$	732.0
Alternative School	\$	61.00	12	\$	732.0
Belmont St. Community School	\$	61.00	12	\$	732.0
Burncoat Middle School	\$	61.00	12	\$	732.0
Burncoat Senior High School	\$	61.00	12	\$	732.0
Burncoat St. Preparatory	\$	61.00	12	\$	732.0
Canterbury St. Magnet	\$	61.00	12	\$	732.0
Chandler Elementary Community	\$	61.00	12	\$	732.0
Chandler Magnet School	\$	61.00	12	\$	732.0
City View	\$	61.00	12	\$	732.0
Clark Street School	\$	61.00	12	\$	732.0
Columbus Park	\$	61.00	12	\$	732.0
Creamer Center					
	\$	61.00	12	\$	732.0
Elm Park Community School	\$	61.00	12	\$	732.0
Flagg Street School	\$	61.00	12	\$	732.0
Forest Grove Middle School	\$	61.00	12	\$	732.0
Gates Lane	\$	61.00	12	\$	732.0
Goddard School of Science & Tech	\$	61.00	12	\$	732.0
Grafton Street School (Buildings 1 & 2)	3	01.10	12	3	/32.0
Ieard Street School	\$	61.00	12 12	<b>3</b>	732.0
acob Hiatt Magnet	\$	61.00		\$	732.0
Lake View School	\$	61.00	12	\$	732.0
Lincoln Street School	\$	61.00	12	\$	732.0
May Street School	\$	61.00	12	\$	732.0
McGrath Elementary School	\$	61.00	12	\$	732.0
Midland Street School	\$	61.00	12	\$	732.0
Nelson Place School	\$	61.00	12	\$	732.0
Norrback Ave	\$	61.00	12	\$	732.0
North High School	\$	61.00	12	\$	732.0
North High School Garage	\$	61.00	12	\$	732.0
Quinsigamond Ave School	\$	61.00	12	\$	732.0
Rice Square School	\$	61.00	12	\$	732.0
Possovalt		61.00	12	\$	
Roosevelt	\$				732.0
South High Community School	\$	61.00	12	\$	732.0
Sullivan Middle School	\$	61.00	12	\$	732.0
Tatnuck Magnet	\$	61.00	12	\$	732.0
Fhorndyke Road	\$	61.00	12	\$	732.0
Jnion Hill (Buildings 1 & 2)	\$	61.00	12	\$	732.0
Jniversity Park Campus School	\$	61.00	12	\$	732.0
Vawecus Road	\$	61.00	12	\$	732.0
Vest Tatnuck	\$	61.00	12	\$	732.0
Vorcester Arts Magnet	\$	61.00	12	\$	732.0
Vorcester East Middle School	\$	61.00	12	\$	732.0
Durkin Administration Building	\$	61.00	12	\$	732.0
anning Building	\$	61.00	12	\$	732.0
farlow Street	\$	61.00	12	\$	732.0
lead Start - Greendale	\$	61.00	12	8	732.0
lead Start - Mill Swan	\$	61.00	12	\$	732.0
lead Start - Taylor	\$	61.00	12	\$	732.0

	GRAND	TOTAL -	- A \$	43,188.00
Vernon Hill School	\$ 61.00	12	\$	732.00
Worcester Technical High School	\$ 61.00	12	\$	732.00
North High School Garage	\$ 61.00	12	\$	732.00
New Citizens Center	\$ 61.00	12	\$	732.00
IT Technical Services Department	\$ 61.00	12	\$	732.00
Doherty High School	\$ 61.00	12	\$	732.00
Parent Information Center	\$ 61.00	12	\$	732.00
115 North East Cut Off	\$ 61.00	12	\$	732.00
LaFamimilia Duat Language	\$ 61.00	12	\$	732.00
Head Start - Millbury	\$ 61.00	12	\$	732.00

Parks, Recreation & Cemetery Divison							
Secur	ity Syster	n List					
Location	Monthly Location Cost		# of months	1 007	Annual Location Cost		
50 SKYLINE DRIVE	\$	61.00	12	S	732.00		
GREEN HILL GOLF CLUB	*			•	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
2 GREEN HILL AVE	\$	61.00	12	\$	732.00		
CROMPTON PARK FIELD HOUSE							
CANTON ST.	\$	61.00	12	\$	732.00		
BELL HILL BATH HOUSE							
BELMONT STREET	\$	61.00	12	\$	732.00		
BEAVER BROOK COMMUNITY HOUSE	_	4					
MANN STREET	\$	61.00	12	\$	732.00		
VERNON HILL - GIRLS SOFTBALL				_			
AMES STREET	\$	61.00	12	\$	732.00		
MULCAHY PARK FIELD HOUSE	dr.	(1.00	12	•	#44 AA		
DORCHESTER STREET	\$	61.00	12	\$	732.00		
SHORE PARK BEACH HOUSE	\$	61.00	12	\$	732.00		
HEALD BEACH	э	01.00	12	3	/32.00		
COMMUNITY BUILDING LAKE AVE. & HAMILTON STREET	\$	61.00	12	\$	732.00		
ELM PARK	\$	61.00	12	\$			
	J.	01.00	12	3	732.00		
HOPE CEMETERY - ADMINISTRATION 119A WEBSTER STREET	S	61.00	12	\$	732.00		
HOPE CEMETERY - MAINTENANCE	ap	01.00	12	J	732,00		
119 WEBSTER STREET	\$	61.00	12	\$	732,00		
GREEN HILL FARM	S	61.00	12	\$	732.00		
	\$			-			
MASS NATIONAL GUARD BUILDING	3	61.00	12	\$	732.00		
GOLF SNACK SHACK	\$	61.00	12	\$	732.00		
AUDITORIUM	\$	61.00	12	\$	732.00		
FAMILY/PROBATE & COMMUNITY CORRECTIONS	\$	61.00	12	\$	732.00		
SOUTH WORCESTER COMMUNITY BUILDING	\$	61.00	12	\$	732.00		
NEWTON HILL at ELM PARK	\$	61.00	12	\$	732.00		
LAKE PARK	S	61.00	12	\$	732.00		
STEARNS TAVERN, 140 MILL ST.	\$	61.00	12	\$	732.00		
	-		14				
PRE-CAST RESTROOMS, 43 AMES ST.	\$	61.00		\$	732.00		
LOU GEHRIG LITTLE LEAGUE CONCESSION, 37 STOCKTON ST.	\$	61.00	12	\$	732.00		
		GRAN	D TOTAL - I	В\$	16,836.00		

Department	of Public W	orks & Parks	}		_
Secu	irity Systen	n List			
Location	Monthly	Location Cost	# of months	Annua	l Location Cost
ADMINISTRATION BUILDING	1				
20 EAST WORCESTER STREET	\$	61.00	12	\$	732.00
MECHANIC'S GARAGE					
20 EAST WORCESTER STREET	\$	61.00	12	\$	732.00
CUSTOMER SERVICE CENTER VEHICLE STORAGE GARAGE					
76 EAST WORCESTER STREET	\$	61.00	12	\$	732.00
CLARK STREET SALT YARD DISPATCH BUILDING	\$	61.00	12	S	732.00



1065 MILLBURY STREET FACILITY 55 MOY RANCH ROAD	\$	61.00	12	\$	732.00
55 MOY RANCH ROAD - OFFICE	3	61.00 61.00	12	a) C	732.00 732.00
33 NOT NAMED ROAD - OTTICE	. J	GRAND	TOTAL -	C \$	5,124.00





E	nergy Asset Mana	ngement			
	Security System	List			
Location	Monthly 1	Location Cost	# of months	Annu	al Location Cost
DEPARTMENT OF INSPECTIONAL SERVICES	The state of the s				
25 MEADE STREET WORCESTER SENIOR CENTER	\$	61.00	12	\$	732.00
128 PROVIDENCE STREET	\$	61.00	12	\$	732.00
CITY HALL					
455 MAIN STREET	\$	61.00	12	\$	732.00
CITY HALL BOILER TEMP. CONTROL FRANCES PERKINS LIBRARY	\$	61.00	12	\$	732.00
470 WEST BOYLSTON STREET	\$	61.00	12	\$	732.00
GREAT BROOK VALLEY LIBRARY					
89 TACOMA ST.	\$	61.00	12	\$	732.00
		GRAN	D TOTAL - I	\$	4,392.00

Sec	MASS HIR curity System			No. leave and	
Location	Monthly	Location Cost	# of months	A	Annual Location Cost
5 Optical Dr. (thru 7/31/22 -est.)	\$	61.00	12	\$	732.00
340 Main St (thru 12/31/22 - est.)	\$	61.00	12	\$	732.00
14 Mechanic St., 3rd Floor, Southbridge, MA (FY-23 est 8/2022)	\$	61.00	12	\$	732.00
552 Main St., 4th Floor, Worcester (Est. 1/2023)	\$	61.00	12	\$	732.00
552 Main St., 5th Floor - partial, Worcester (Est. 1/2023)	\$	61.00	12	\$	732.00
		GRAN	D TOTAL - I	\$	3,660.00

	All Departme				· · · · · · · · · · · · · · · · · · ·
	Repair/Servi	ce			
			Estimated # of		
Repair /Service	Ho	urly Cost	Hours		Annual Cost
Emergency Repair					
Approximately 100 Hours Annually	\$	225.00	100	S	22,500.00
Service Repair	-		200	•	==,00000
Approximately 100 Hours Annually	\$	171.00	100	\$	17,100.00
	GRAND TOTAL - F		\$	39,600.00	
EMERGEN	CY COMMUNIC	ATIONS DIV	ISION		
	Security Systen	ı List			
Location	and the second s	Location Cost	# of months	Ann	ual Location Cost
2 COPPAGE DRIVE	\$	61.00	12	\$	732.00
SKYLINE DRIVE (RADIO TOWER)	•			-	
	\$	61.00	12	\$	732.00
442 SOUTHWEST CUTOFF	\$	61.00	12	\$	732.00
		GRAN	D TOTAL -G	\$	2,196.00
	GRAND	TOTAL ITE	MS A TO G	\$	114,996.00